ST 2A1HBE (o Ao HRA+HSAEAN)

KT 4 HEEE | s |5 (A) | B | & (B) | Hay | EF(A+B) HE P
T 2,534 4 2,813 -10 2, 882 2 5, 695 -8
T — T H 1,078 -5 983 -5 840 —4 1,823 -9
R — T H 626 1 578 2 569 -1 1, 147 1
AT =TH 669 0 708 -1 663 2 1,371 1
JHPTETIU T H 492 0 510 0 531 -1 1,041 -1
T T H 346 -2 364 -2 327 -5 691 -7
JHPTHTS T H 311 0 374 0 387 -9 761 -9
i a) 216 4 203 0 214 0 417 0

= 382 0 443 0 452 -1 895 ~1

T H 1,977 20 2,016 7 2, 095 17 4,111 24
PIPTHT 350 1 340 0 329 0 669 0

T H 960 5 1,017 1 988 7 2,005 8

T —TH 286 -1 349 -1 391 -3 740 —/
HHT T H 350 —4 420 -3 433 -3 853 -6
T =T H 508 6 659 2 639 2 1,298 4
FHTIU T H 296 -1 402 2 390 2 792 0
3 235 0 262 0 252 0 514 0

T = 301 -1 356 0 331 0 687 0

=K 446 4 452 4 459 7 911 11

EDFS L 0 0 0 0 0 0 0 0
— Y KHET T H 32 0 43 0 43 0 86 0
LN 113 0 122 0 120 -1 242 -1

— Y K¥H 5 0 5 0 5 0 10 0
KH » & 692 1 3858 0 859 1 1,717 1

Rk 4 4, 626 —4 4,821 -8 5, 087 6 9,908 -2

IR 4,901 -5 4, 585 -13 4, 688 0 9,273 —13

TR A 1, 459 -6 1, 542 -3 1,572 -3 3,114 -6
= 6 0 10 0 7 0 17 0

g+t H—TH 949 5 803 6 945 2 1, 748 8
E+HR_TH 1, 147 -1 1,071 -2 1, 170 —4 2,241 -6
Bt H=TH 870 -5 768 -7 850 -7 1,618 -14
B EAMNTH 731 0 703 -6 726 0 1, 429 6
Bt H AT H 724 -1 755 1 672 0 1,427 1
= LRANTH 0 0 0 0 0 0 0 0
B T 1, 990 3 1,953 2 1, 842 1 3, 795 3

¥Ar — T H 302 -2 310 2 312 2 622 4
oy m_TH 248 2 253 0 250 0 503 0
Iy =TH 442 0 432 -1 453 2 885 1
¥ U T H 781 -2 638 -1 817 3 1,505 2
ey EH T H 454 -6 497 -2 511 -3 1,008 -5
FHIT— T H 253 0 294 0 326 0 620 0
BT T H 599 2 574 1 636 -2 1,210 -1
BT =T H 194 3 183 2 235 2 418 4
it 33, 881 7 34,519 -33 35, 298 14 69, 817 —19




